BAFELS (BI%BIR)
A & R &

EEFEERVES | SM6EE HHHBHX BHAFE1FT-2
S % % | BT BB K X 4 BBV ER e AmER
¥ B % B | B&ENETRFEREIS N
At HBH K| 4f 64£12H16H T 1E304H
A K B P | FTIHRE=E
A Al & A LB R
BmOF X 13 A W A L & (M) i %

ERAUEHRARL RIS
1, 935, 000

=t AEIZHNFCH

BERTy A TNE Y AR
v 1, 790, 000

At WY E
2, 765, 000

Hw YNy B Kat MAILER » ,
2, 670, 000

X2t ARG
1, 850, 000

FEICHII b At
1, 180, 000 |#&#L

BARH A —>—5 1 — -
2, 480, 000

gaga Yy~ kX etHt
1, 900, 000

At NEAEMERE  fRLs)E
2,765, 000

BT Ty 7 MRILERER
1, 800, 000

MRt —x L
2, 480, 000

MRt A AN fodkil e
2, 200, 000

HASHREAR  MELEBHR
2, 655, 000

A AARA > >—27  FMERILSE

MBSt a—T v MERILEBRR
HER
M EROSBIZION— 2 MIHE T 2B ME L - &BMNER LO A UER T,

\ ANBEBREM| 10 % M % | EEEO AL
w OO OX F 4 (1) (1) ()

FEIACHIY N BAXEt

1, 180, 000 118, 000 1, 298, 000
WA R (B | 3, 041, 500 (M) | % AL T OE i | 3, 041,500 (M) |
BIRRIC LB

XEEZEHM

/1 B



RIS (BEIRER)

T 2w U IR B OBEE

FREERVEBES

%

)

TG ERE HHPK PEE1IF-2

% % &

| HTEBEEF 1)K U 4 B RS MERE I RS

® B 5

| B )T KRR S

Z K OMFESH

IR AHL -1 -1 9
FEIAHLY >+ kK&t
IR K &

® B o0 B =

|£A) @EROTS 2 — |

* B # =

L=3m HEREHAR 84E

T M el
F 4f 6412H18H
T &f TH# 3A27H

b o | &

e

1, 298, 000 M




HRIEB2E (BEIRBELR)

XERETHHA

AL ® R O#E
HEEEEROES | A6 EE BiK - %4 WRhEsH
¥ B & B REE
¥ B 8 FesIrEN—H
A K B F[4W 6412H16H ik 1355
N AL
A AL % A L ® R
MoB X 3 & H A LB (M i %
BRI % WSE
7, 960, 000
WAt HEIHILFY b
BB
HIREH  fex KRB AT
7, 965, 000
B AR F R
7, 968, 000
BRaHt <TEL
7, 100, 000 |¥##L
ISR S S
B
PR AR
7, 968, 000
R AT YIS > b
7, 960, 000
AL EEXE
7, 968, 000
EHIPNY OV BREHE MBI T |
BB
B4 AN L E
7, 948, 000
B S AL T
531
X EEORBIC10/S—E > MRS T 3L EME L SEAEHE LD AALEE TT.
‘ ARERBESE 10 % M % % HEE DAL
E R Ox % 4 (D) () (M)
R < TE b
| 7, 100, 000 710, 000 7, 810, 000
AR (BLA D) | 8, 764, 800 (M) | % AL F i ] 8, 764, 800 (M) |
BRI & B |

I/1 B



B3R (EIRER)

EREERVEBES

T &Rk L IR B OBE

|ARI6EE B k2 WMESS

* # t

| S B R A S R

X B 5 ™

| i I —

2K oM FH

B2 vIER
REIFER WAE A

FERILIR Y HREEF 1 02— 21

* B o B &

&) EE

2 B # =

A (129km) =130

T WM M

ot o | &

F 4% 6412H18H
T 4 T4 3A27H

xR

K& #®

7, 810,

000 H




